if X[0] (worksize) <= 40.0000
samples = 276

yes

no

if X[7] (image rows) <= 620.5000

if X[6] (image columns) <= 3037.0000

samples = 92 samples = 184
yes no ées no
*L4* *L5*
samples = 84 samples = 160

if X[5] (GPU frequency) <= 399.5000
samples = 8

yes 0

NO (84) / YES (0)

NO

NO (0) / YES (160)

YES

samples = 4
NO (4)/ YES (0)

if X[4] (CPU frequency) <= 1200.0000
samples = 4

NO

no

samples = 2
NO (0) / YES (2)

YES

NO (2) / YES (0)

samples = 2

NO

if X[0] (worksize) <= 96.0000
samples = 24

yes

no

if X[4] (CPU frequency) <= 1200.0000
samples = 12

AN

samples = 12
NO (0) / YES (12)

YES

samples = 6
NO (0) / YES (6)

YES

samples = 6
NO 4)/ YES (2)




